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2. (10 pts) (a) Write the Sum of Angles Identity for sine:
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(b) Show how the first Double Angle Identity, sin(26) = 2sin(#)cos(8) , is derived from the Sum of Angles
Identity.
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3. (10 pts) Consider the graphs shown. From the graphs determine whether the equation could be an identity.

(a) (b)
csc’(x) +sec’(x) — 2 = sec(2x) —sin’(x) cot?(x) | csc?(x)+sec’(x) -2 = cot’(x) + tan’(x)
Possible identity? YES - NO : Possible identity? (YES ) NO

o

Graphs for reference

y =csc’(x)+sec’(x)—2 y =sec(2x) —sin’(x) cot?(x) y = cot’(x) + tan®(x)
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6. (10 pts) (a) If x is in Quadrant II, then
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Based on this, which quadrant is 5 in?
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7 (b) Given secx=-4 and @ is in QuadrantII, find sin (%), COS(—JZEJ, tan[—].
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Be careful about the signs on your answers! Simplify all fractions.

For credit, show work using these Identities:
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7. (10 pts) Prove/verify the identity. For full credit, make sure you show each step of the proof!

cos(a +b) =1 - tan(a)tan(b)

cos(a)cos(b)
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